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AC:AD =BC:ED
(5+x):4=6:3
3(5+x)=24

5+x=28 SLox=3

A
dem /[,
D' 5‘cm
\ /I
3cm E
rem
/
“~6em- " C
1 3 5
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A D
B C
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@ 2xAD =BC © /ABC = 2/ABD
© (DBC = /ACD ® (BAC = /CDB
@ AABC = ADCB
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A D
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B N C
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@ 27.5cm? ® 30cm?

A M, No| ZE AB, BC o] FHolB=z

1
oMBND = §|:|ABCD = 25cm?




15. o237} Zo] g2 477|504 AB 9 GH, BC 9 HI, AC ¢} GI
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© ADEF = AJKL

© ¢ABC # /GHI
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18. t& 13oA Aftte]E ABCD = AD//BC,A0:CO=1:20°]1
AFh2]ZE ABCD 9] Yol 27cm? € ©, AABO 9] Hol=?

A D
(9)
B C
D)6cm? @ Tcm? @ 8cm?
@ 9cm? ® 10cm?

S5 ~
0ABCD = AAOD + ADOC + AOBC + AABO °]t}.

AAOD 9 HolE gl 6HH, 1:2=a: ADOC, ADOC = 2a
ADOC = AABO =2a,1:2=2a: ABOC, ABOC = 4a
OABCD = a + 2a + 2a + 4a = 9a = 27cm? , a = 3cm?

. AABO = 2a = 6cm?
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o2 1389 /A = 90°¢l AABC oA BM = ,
DHLAM O]E}. BD = 8m, CD = 2cm<£ o, DHS] ZAo]E +
SHH?

A
H
M
B= “—SCm——”D\2cmC
@ %cm @ 8cm ® 1€7cm
@ 9cm ® ?cm

i)AD’ =BDxDC =8x2=16
.. AD = 4(cm) (- AD > 0)

~~3cm--~
H M2 AABC 9] 9]4]o]t},
BM = CM = AM = 5cm
MD=5-2=3
ii) MD x AD = AM x DH ©|2&
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B
C~-10em--D
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15 20
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(BAC = 60° |22 AC = /BAD 9] o] 52 A o]t}
o}2t4 AB: AD = BC : CDO|E2
12:15=BC: 10

. BC = 8(cm)

AB: AC=BD: CD°|E&12 : AC=18 : 10

wjeb AC = 2 cmol,




AFHE ABCD oA AM = DM, P
B :CM%“IH,AD—JEU]%?
@D 70° @ 80° @90°
C
@ 100° ® 110°
AB = DC, AM = DM, BM CMolE =

AABM = ADCM(SSS3HE)
/A + /D =180°
(A =/Do|ER

4A=4D:180°><%:90°




24. S HAIZFE ABCD o] AB : BC = 2 : 3, BQ : QC =

1, AP = PB & 1, /DPQ o] 2712 Fatofa},

A D
P
B C
Q
> £ °
> =g 45°
PB——AB——x BC—% C=QC,

ngﬁzc—n,

.. APBQ = AQCD

o2t PQ = QD o2

(PQD = 180° - («PQB + /DQC)
= 180° - («.PQB + £QPB)
= 180° - 90° = 90°

ADPQ & AZolsHzg el

. (DPQ = 45°
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a1, ED 9ol & A, CollA W™ s
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A D
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E B C
» E: cm
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AAPD 2} ADQC |4

(ADP = /DCQ, AD = DC, /APD = /DQC
AAPD = ADQC (RHARS)
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